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Find out the synonym for the italicised word
given in the following sentence.

He was filled with remorse for the action.

(b) regret

(d) repentance

{a) revulsion

(c) despair

Which of the following is the correct passive
form of the following ?

“Who hjg_ cut theffree ?”
(@
(b)
()
(@

m
By whom ha§*the tree been cut ?
" g m
‘By whom wag'the tree cut ?
("
By whom was the tree cut by ?

Who has the tree been cut ? +

Change into direct form :

I said to him, “How do you know this ?”
(a) Iasked him that how he knew that, »
(b) Itold him ho?%l knew that.x

LeY” I asked him H!_Eﬁv he knew that.

(d) I asked him l;f}w I knew that.

Choose the correet option to find out the
meaning of the idiom given below :

“To end in smoke’.
_fa)
(b)
(e)
(d)

To have no result; to come to nothing
To find out the smoke *
To find out the result in the end -

To come to ap;gnd

30.

What is the mea.lmg of the idiom, ‘Blow one's
own horn’ ?

(a)
(b)
(c)

To be the de“}-;. advocate
To suddenly become very angry

To announce self defeat

DS.TF-2.5
Fill in the blank with the correct option,
one of the boys was in the playgroung.
) Neither (b) Either »
)" Every (d) All

Find the correct sentence.

(a) He is rich enough to starve,
{(b) He is too rich not to starve.
(¢) He is too rich and he starve,

31.

32.

_L&h He is too rich to starve. L,
33. ilsz.se t.#e correct aitgnym of the ﬁ::l]owiﬂg..
....... Gloomy
A44) Cheerful
(b) Boring
(¢c) Straight
(d) None of the above
@ Select the word which is opposite in meamng
of the following :
Indiscreet
(a) Honest (b) Prudent
(c) Stupid (d) Reliable
35. The art of beautiful handwriting is known as :
(a) Designing (b) Stenography
{c) Orthography  (d) Calligraphy
36. Choose the correct alternative which replaces

the given statement/sentence :

“Anything written in a letter after it is
signed”.

(a) Manuscript
_{e) Postdiction

¥b) Corrigendum
j‘{i) Postscript
37. Which among the following is a correctly spelt
word ?
A2) Obliterate
(c) Obleturate

(b) Obliterait
(d) Obleterate

38. Fill in the blanks with the correct options.
* he worked, he failed.”
(a) Hardly; when
~tb) Though; yet ~
(c) Other;than =

To boast about oneself

...............................................................................................................................................

(d) No sooner; than x

e e RER
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Read the following passa

i g€ care
questzons number 39 to 43 based m{ ‘ﬁye pt:lnd answer
ssage,

Leadership studies is an e : - e
ﬂlmeademhip wr?l‘:rgmg' e,
[,eadershi_p_l_oﬁa is defined as
leaders and followers who want
outcomes that reflect their purp
Jeaders and their

real change and

ose shared by the
. : followers. Influence means that
the relationship among people is npet passive;

however, also part of this definition is that influence
is multidirectional. It does not use orders or threats
to make somebody do something, Leadership is
something a leader does to a follower, However,
Jeadership has an effect in both directions. In most
. Gfﬂalf_iz_afi.‘.ms’ superiors influence subordinates, b::-t
subordinates influence superiors as well. The people
involved in the relationship want real and
important changes — leadership involves creating
change, not maintaining what normally happens. In
addition, the changes sought are not dictated by
leaders, but reflect the purpose that motivates them

DS.TF-2-24

41, What should be the outcome of }eademhip
?::m;\l:;ement towards the vision of the

(b) ;::z;ent towards the vision of the

(c) ;:roe:::;t and strengthening of the

authority of leaders.
Movement towfifds common Visi
leader and the @ilowers.

on of the

3

N g W {
Find the synonym fof) the word ‘traditions’ in
the above passage.

(a) Organizatim; b)) Lore
(d) Leadership

42,

)<(c) Relationship

What is the main theme of this passage ?

A

(b)

43'

Explanation of leadership construct

Future of a cou;_:_tp

toward this more preferable outcome. An important (c) Politics of a.co
aspect of leadership is influencing others to come (d) Discussion ahoEF‘iﬁJI]uu_rers
together around a common vision. Thus, leadership i ) ~J :
involves the influence of people to bring about |44 Fill in the blank withf'the correct option.
change towards a desirable future. We ourselves to the circumstances.
(a) Adept ~ (b) Adopt
: leadership discussed in this
o i::s::: ::l.)t b i s (c) Adapt (d) None of the above.
&) Exceptional
®) I d‘F" ‘g .|45. Select the correct order of mending the
ndividualistic » t g T
@) Vertisall/Pog-down puncture in a cycle tube :
W) Horizontsl 1. Wait for material to dry.
2. Remove tyre arﬁ?j:ube and dip in water to
40. “Leadership studies is an emerging discipline” check. )
means : £ 3. Fix the tyre anSE.lbe. t,
i ies i lished fie
(a) Leadership stucifes {sanestab 18 e :f Mark the spm and apply puncture
Ab) Leadership studies is an - d “ o mending material.
ip studies is an evolving domain
“ f,f:cdfsfﬂfpufe @ LA %4 (b 2,381,4
(d) Leadership studies is a valid field of () 43,21 /ld) 2,4,1,3
s L e R SSOSEYEE” L e PR N AN Y Y S S
--------------------------------------- A 5 A
. ) ,% N
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Which of the following is an example of
mediated communication ?

Aa) A newscaster delivers the weather report
on 9 o’clock news #

(b) Students work on a class project toget}%er

(¢) A politician addresses a nominating
convention <

(d) Two friends gossip W{i.%l one ailother

The role of a leader is gefined by the three

circles of need : NG i

1. Task ﬂ

2.  Function BB

3. New ideas

4. Team

5. Process

6. Communication

7. Individual w

Select the correct answer from the codes given
below :

(a) 2,4,1
(= 3,1,6

o
(b)ry1, 4,7 -
(d)"r,]r, 5, 3%

If in a non-leap yearﬁt is Tuesday on
28" February, th.en what day will be on
288 March of that year ?

(a) Monday (Lb) Tuesday

(¢) Sunday . (d) None of the above

What are the examples of interpersonal
communication ?

Seminar
Journalism *
Office operatione”
Letter writing 7t
Study-Teaching v«

3257330

Conversation+
7. Interview «

Select the correct answer from the codes given
below :

Aa) 6,7,5,3
() 2,8,5,7

() 4,5,2,1

46.

47.

48,

49,
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DS.TF-2.24 !

(a) Fell eI SRt T O S Y
T <t fedt &

mﬁaﬁrﬁﬂﬁmmmwmﬁm |
e TS ol AT HeT 20t T gy |
<y it i 3moE o oy -

(b)
(c)
(d)

w B A S F A g
aftnfe S R |
. |
Tt . _
¢ frew ’-
a _
wfSFaT

wrwor |
;o oafie
e fw e e & @t I = Al

|
@I ‘24, 1 b) 1,4,7 ‘
© 3.1,6 @ 7,53

afs <t =fiv o 7 8, 3@ af 28 el i HeER

- R

TgaT 8, < 28 A 1 39 9 A i wem e

(a) €IHER (b) HIEER

(© ER (@) IEwH A

Frafthe GOR % REW HH-FTEE ?
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2. UFRIGT
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6. gl
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(a) 6,7,5,3 (b) 4,521

() 2,8,6,7 @ 24,76
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50. The number of intege il
—ﬂ+2aoﬂnd2n24is.grs n S&tisﬁ'ingﬁg nqﬂﬁﬁmsﬁ—n+2203ﬁtzn24ﬂa
) 1 £ S LN
/::] 4 (b) 2 "\‘f‘.q' me Wm%’%
s @ o= (@)1 ® 2
51‘ 3_d1g1t IHI‘g'ESt prime number is J ) (C} 4 (d) {.)
@) 998, g 51, i i o Ed A I kb
(c) 996~ B
@ 999, et '
(c) 996 (@ 999
c, e, f, g};

h,il €I

i ] p,',q:r ) f, g], B = [b} c, d’ f‘, g’ h} 52, m;ﬁﬁq I%A. ['Bﬁ}):
m C—’ {{!, e &

52.
and C = { i v h
e d, e, & h, i}. The value of B=(bc df 8 F,E =

(A-B)-(A-C)-(C-B))is:

@ [ ® (o g el = FPET
OR @ fal . o ib} A - =
@ Who first calculated the value of T ? 53 ;: %maﬁmﬁg&“ et ?

(a) Archimedes » ' (a) afefies -

(b) Aryabhatta (b) IEE

;;) Thales

(d) Pythagoras_

54, By dividing x° — 6x% + 2x —4 by :2§ x + 1, the | 54.
remainder is : 2 % oy =
136 B e
_la) 27 (b) 136 h)
136
(¢) —136 d =
) (d) o7
55. The value of x in the given figure is : 55.
N B
(a) 120° (b) 110° ' (@) 120° LA (b 110°
(¢) 100° (g 180° (¢) 100° g (d 130°
¢ the median of the following data is 1L hon | 56. 3T Frefifad et i1 AT 11 %, At K HAH
find the value of K. e hiTTT :
3,21, 10,7, 6,9, (K +6); 15, 20 ) 3,21,10,7,6,9, (K +6),15, 20
(@ 7 b 6 gk~ 7 s ®) 6
..... 475 B TR TN & .1
""""""" s ™ A7 A
AP 9 b .
.--q"ff S - ; 0 > @_‘ 6 E‘..— ¥ t_{.; -4
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60.

61.

The factor of expression (x + 3+ (x—ylis:
@@ 3xGZ+3y9) () 2x (x2 — 3y2)
“(e) 2x (% + 3y%) (d) 3x(x2-3y2)

The work capacity of A is three times more
than that of B. Both of them together can
complete a work in 15 days. In how many days
ill A al 1 at work ?

will A alone comp et%ﬂx wor ke &

(a) 1875 b)) 21 —= ‘ﬁh <
o) 20 Ly g o e B2
The cost price of 4¢Q)ranges is equal to the
selling price of 80 oranges. Find the
percentage profit.

(a) 25% Ab) 33:33%

() 22% (d) 20%

A man covers half of his journey at a speed of
6 km/hr and the remaining half at a Speed of
3 km/hr. His average speed is :

—-—/\J\,.

(a) 8km/hr Ab) 4 km/hr ":

(¢) 9km/hr ) 45kmhr ¥ “'@f
A number when dl%&ﬂ by 53 gives 34 as
quotient and 21 4gs« remainder. Then the
number is : LN 35 A
() 1800 ) 1728

(e) 1924 gﬂd% 1823

The number of subsets of A = {0, 1, 2} will be :
(a) 7 (b) 9

() 8 (d 6

If the difference between compound interest
and simple interest on a sum of money in
2 years at 10% annual interest rate is ¥ 12,
then find the amoung—

(a) %1200 ma) % 1000

(c) % 2400 [Md) %240

1N

Surya sells 45 pens fg'?%l suffers a loss equal to
the selling price of five pens. What is his total
loss percentage ?

(a) 11-11% (b) 12:5%

517.

58.

59.

60.

61.

62,

63.

64.
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i (x +y)2 + (x— y)3wﬂm@a%

(@) 3x %+ 3y9) (b) 2x (x? ~3y%) |
;,LEJ 2x (x2 + 3y2) (d) 38x(x*-3y?% .

A 3 o 0 Y Gma B ¥ A T sy 3
fireTant T 1 Sl 15%:%31651;;3%%,&% |
30 & o e feA H QR 2
(a) 1875 (b) 21
(c) 20 (d) 18
mmﬁaﬂ?ﬁun@(cp)aomﬁ%m—qm
(SP) % s & | T wiftrera 3 hifr |
(a) 25% (b) 33:33% |
(€ 22% (@ 20% i
w et sl el A 6 Rl gy
A areft = 3 Femel/ae <t e & T |
udh! e ia R '
(a) 3 fefifeian (b) 4 ferei/er
(¢) 9 feifeien (d) 45 Refifear
U T 1 53 ¥ fonfoa & W wee 34 @
JI9er 21 STH BT R | A TR HE R : !
(@) 1800 (b) 1723 'L
(c) 1924 (d) 1823 '\
={0,1, 2}%@@%&#1@1#& |
(a) 7 (b) 9 \p 343 |
~Je) 8 @ 6 |
ﬂﬁﬁ\%maﬁtmmﬁm:m%a’rﬁfl
U I iR | ,
(@ %1200 (b) %1000
(c) T 2400 (d) 240 |
|
wat 45 e R 5 Fel 3 e T F T

1T STt & | I et Feber i A g5 2
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A Find the missing ny DS.TF-2-24
i mber in the fi g
ollowing | 65, ﬁvmm%mﬁﬂtﬁﬂ%@“ﬁﬁﬁw

arrangement based
10 27 Some principle ; :
7 4 T = i i
3 ? 9 10| 2
15 18 21 'y ? 9
Select the correct ang : et 15 18 21
wer f A
below : I from the code given ﬁﬁq“ﬁ@ﬁﬂﬁmﬂmm:
@ 5 ® 6 @ 5 b
(i © @ 4 ) 8 (@ 4
t will b : J gt ST
66- wbaﬂ‘{ WIu ?Jheul‘}e}ct item in the series 66. 17, 11, 19;35, 67 ——— <l 4 A i
y 19, 35, 67 17] ? fﬂ@q;}ﬂ;;: 9
ﬂ () 121 Ab) 131 (@ 121 () 131
() 133 (d) 99 L ) 99
11 ':C:' 133 1‘.‘] ﬁ. 'ﬁ’ e W
¢7. ——— allows several people to use soft 6 f‘é’ﬁ".-? it & T ke Hireaat
' at the same time to create d Pl ™ i aEast @A F
track of projects. e I A A aﬂﬁ ar: j’% |
Aa) Groupware (b) E-mail ﬁmqﬁwﬂ% S
(¢) Network (d) Software (a) gv%ﬂf ;z: »
g8. Another name of interpersonal communication (e) e
84 68. arerfiem He I QAT AT 2:
lea.ce:to-face public communication (a) W—Wﬁmm
(b) D‘ladm communication ; b) SHERF EGRED RIS
(¢) Virtual reality (c) gredfeaesar
| (d) Mass communication ' (d) &l |
¢9. Which one of the following pairs is nrof)69. ﬁm%i’@ﬁ@ﬁﬁﬂaﬁq‘mgmaﬁ gafer 72 & 7
1 ED;-re;;:y m;tlc:hed ?S 1 b & (a) H = gﬁqﬁﬁ_ﬂim W'ﬁ‘@a
a orndike — Stimulus-response bon [ﬂl—'c.’f_c'ﬁ'&"l'_fﬂ
theory 2 () TR et .
(b) Pavlov  — Gestalt theory : (o R — By g R
(¢) Skinner - glpirant conditioning (d) FER  — a:ag‘fﬁ! =) =1 faeia
eory
(d) Kohler — Insight theory 70. 29 fafleer 7 & -8 T &t I
70. Which of the following is a characteristic of a : :
good decision ? o) HE ; & i erar 8
(a) Ttis based on intuition (b) 7E < foar S &
(b) Itis made quickly " (c) dE lﬁﬁl TRt o Tl ot 3ot (JueaT) L 2
(¢) Itignores stakeholders’ interest (d) I pEErd AT &
(@ It is feasible and achievable 71, THE-EHE i ufRar sl g o Sead O Bl
lving where the IEET _
7. The process of problem S0 VIDE ”
problem has only one single answer 15 ——— (a)
(a) Divergent thinking (b) i foe
(b) Convergent thinking () FAMUTEFR
(e¥ Trial and error @ =

(d) Insight® e
...... i
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If CONSTABLE is coded as 91, what will be
the code number for STABLE ?

(a) 78 by 59
© 175 @ 97  1§twoht?
+ 1288

If BELONGINGS is coded as TABLESTESF,
how will you code LINEN ? RTE
(a) BTAEA (b) BATEA

(c) TABEA ( TEAE

m At

Which one is different fruﬁ%he other three ?
}29‘ Table (b) p~Gate

(6) Window (@) “Door

fﬂm ‘poster’ is related to ‘wall’, in the same way
photograph’ is related to : .

(a) Beauty
(b) People
‘/(n) Frame
(d) Camera o
o

When two people get Ctbgether, the one
who appears more relaxﬁin body language

" N
is higher in power hiffarchy

is senior in age

(a)
(b)
(e)

Bey

belongs to higher socio-economic status
All of the above

is influenced by inter-personal
context.

far Gesture and posture
(b) Problem solving

(c) Education

(d) Speech style

257330

Among 200 persons, 90 P&dple like tea while
108 people like coffee and 46 people like both
tea and coffee. How many people like neither
tea nor coffee ?

79. aff CONSTABLE & 91 % &9 ﬁqﬁﬁaﬁm,ﬁ

73.

74.

75,

76.

7.

78.

DS-TFQ-.z'é
2. A STABLE i g gear R g2 *

(a) 78 (b) 59

() 75 (d) 97

afs BELONGINGS %I TABLESTESF ¥ v 3
Fifesa T ST 2, A LINEN 37 %1€ FT 8 o

(a) BTAEA (b) BATEA
(c) TABEA (d) BTEAE

e i d s dRa =g ?
(a) AT (b) FTH _
() fagh (d) T@ET oo

S ey A ¥ W 2, A @ B |

feram weftra 2 2

(a) Y=AdT (Beauty)

(b) TN (People)

(¢) TH9 (Frame)

(d) FT (Camera) .
<tar 3 =Afes | A € €, a9 I & S 38 I
Hed § wfye ftew 7 wiia fegar Eal
(a) SfrEmTEaT 3TN § 3o T
(b)
(e)
(d)

(a)
(b)
(e)
(d)

200 =afwT &, 90 & W Tow Wy ¥ w@fE
108 W I TE= = #F 3T 46 SR 917 30K
! 3T TR e | e s E S g dram

TH U 8 AT E i e Y S 0
(a) 44 (b) 62
(c) 46 (dr 48

---------------------------------------------------------------

(a) 44 (b) 62
(c) 46 (d) 48
5 g lptiE A 1
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following polynomials ?

(]

o
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84,
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9x% — Tx% + 5x — 4
2x3 + Tx% —5x + 4
9% = TxZ = Bx + 4 o
9x3 + Tx2 + 5x + 4

(a)
(b)

(d)
13 is related to 2190 in the same way ag 1
as 14 is

related to :
2737 (b) 2738
(C) 2739 (d) 273 6

In a circle, if radius is doubled
tothearea? '
(a) It triples

(b) It quadruples

(¢) It remains the same

(d) It doubles

» what happens

The values of x and y in the following diagram

(b) x=9,y=16

() x=16,y=9 d x=T7y=18

The value of which of the . following will
not change if a constant number is added to all

the scores of a series ?

(a) Median
(b) Mode
At Standard deviation
(d) Mean
If the side lengths of 2 square are doubled,
then how much area will be increased
(a) 3times - 4 times
(¢) 5 times (d) 2 times

. irl
£196 is distributed in 300 childrer Ifslr:
gain ¥1 and boys 50 paisa

number of boys ?

then What |is

80.

81.

83.

84.

85.

(a) 210
(c) 214

-------

TB.

| E—

DS.TF-2-24

el agedt & @ e TS X - 4 3
2x-1%7

(a)
(b)

2x3 — 7x2 + 5x — 4
2x3 4 7x% — 5x + 4
() 2x3—7x%-5x+4
(d) 2x3+7x%+5x+4

T et 13 gifia @ 2190 q,
# M

(a) 2737 ) (b)' 2738
(c) 2739 % (d) 2736

qasgqﬁ,aﬁgﬁhgrﬁrma&ma’rmﬂ
T T AT € 7
(a) vﬁ?ﬁﬁﬂmﬁﬁfm%

) FEEREASEE

aﬁmmﬁﬂ%

(c) deAmrd @
(@ 78 QAT € ST &
.ﬁﬂﬁiﬁﬂﬁwﬁfﬁxamy%“ﬁ%
(a) x=1's,3xr§'1l7 ) x=9,y=16
© z=16,y=9 (@ x=Ty=18
uﬁﬁﬁsﬁa"{@w%aﬁaﬁaﬁﬁﬁﬁmwma&
gﬁﬁmﬁf@'ﬂﬁ%mmﬁqﬂaﬁ?qﬁ
9
(a) HTEAH (HEATH)
(b) wEF
(¢) W fa=ed
(d) mtzr(qsf_r?g}m
aft forelt ot e R A S, A A
[ELCIE
(a) 'cﬂqﬂ-‘ﬂﬂ (b) ST
(o) ;T (@ AT
_leEﬁSOUIEﬁﬁahw|qﬁagﬁ.ﬁﬁfl
s EeE # 50 & B, 4 oTe! B HETHTR 2
e (b) 212 '
g8 W 8
el e s ﬂE C ,'i*‘.\
. W . L
W e 8
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86.  Given HCF (306, 657) = 9. |86, HCF (306, 657) =9 & | -
Find the LCM (306, 657). : LCM (308, 657) T1d HIfer | i
(a) 21331 (b) 22318 (a) 21331 ¢ - () 22
(c) 33228 (&r 22338 (c) 33228 (d) 22338
87. G2‘3_5 =97 87. 02-3_5 =7
233 237 237
£3d L 233
7 590 ®) 590 el = ®) Ss0
235 235
(o} =24 el
o o @ %90 @ =9 @ =
88. Ogive curves for ‘more man’ type and ‘ess 1‘1000 . & S s %
than’ type distribution intgrsect at - 88. YR ‘U F’ IR WER ¥ R gy fore
(a) median (b) “thode ?ﬁtﬂﬂ'%@-ﬁﬁmgﬁlﬁimﬁ
(e) origin (d) Mhean (a) WITR® (b) TEEHFW
89. If the points (1, x), (5, 2) and (9, 5) are e
collinear, the value of x is : (@ 7afgw ) (FEHA) |
( 5 89. M forg (1, x), 5, 23R (9, 5) T@E Ay
a) - = ) = . 3
2 . HHE:
© 1 ' @ 2 : ) % b) -1
90. 2 cubes, each of volume 27 ¢m?®, are joined end (e) 1 (d) b -
to end, then the surface area of the resulting 2
cuboid is ; 90. 27%:ﬁ3mmﬁzqﬁﬁ@ﬁﬁaﬁﬁ‘tﬁ
(a) 81 cm? (b) C54 em? ST ST &, St aRome sy gty e - |
2 2
®- Bem® AD R0 o _ () 81w (b) 54 A2 |
91. If;llgu::. ::.l?any triangles are {hr.c;re in the followmg (© 323 @ 9032 i
N 91. ﬁw%f&gﬁwﬁrﬁmﬁﬁgaﬁ?
9
(2) 10 (b) 12
(e 11 (d) -8 Ei;} :2 Eg; ;2
92. The missing number in the series is _
4,18, 48, 2, 180 92. 3ft 4,18, 48, 2, 180 U EEAT R ; i
(a) 80 (b) =90 (a) 80 (b) 90 G5t
(¢) 100 (d}ﬁﬂ (¢) 100 «&4d) 60
2
. 1 I~ 2x" +2 1 2x% 4+ 2 ;
= h of gy T Y &8I
9. If x+— 2: then the vq‘}ae 5 +ax+g |98 Wxe—=23A T
illbe: y=>-
will b: m, o L Lyl & A
| @ 3 B3 2x4 2 1
|
| 1 2
| (© 23 e e e | gEEC e D s B e o -
-------------------------------- A2 A s
a. X
“ fh’/ﬁ '&
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98, What are the fo
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Eﬁ is/are used b

. o4, e ¥ hu

| 9 of the t1 to control the bEhli aVIilogiings most |
4.

45 well as of themselveg, of other
S

( Words 5 Po
Punishment Stures
© @ Rewargs

It is human nature to know wp
Y w

explaining our own and otherg’ eh Process of
ehaviour is

N
(&) Prosocial behaviour
(b) Discrimination

(¢) Attribution

(d) Altruism

96.

ey
(a) Prejudice
(b) Discrimination
(c) Attractiveness
‘01) Reciprocity of liking
g7. Which decision-making bias refers to the
tendency to give excessive weight to the first
information received ?
4a) Confirmation bias
(b) Availability heuristic '
(c) Hindsight bias
(d) Anchoring bias

ur basic communication 98.

skills ?

1. Understanding 2. Listening

3. Informing 4. Speaking

5, Observing 6. Reading
8. Writing

7. Influencing

Select the correct answer from the codes given

@ 2 b 1,378

{a) 2’ 4, 6’ 8 PRLES LS

© 7,256 @ 3,527 99.
% Which of the following type of memory has the

shortest duration ?

4a) Immediate memory
(b) Echoic memory

¢) Iconic memory ;
(c) Iconi 200.

(d) Working memory : :
100. Functional fixedness js a kind 0 e

&y Confirmation bi1as
(b) Creativity b188

(¢ Mentalset e

=, =
________________
................

e/others | 95,

Tendency of people to like each other is|9g

97.

DS.TF-2-24
mﬁmggﬁﬁw
Tl 3 gry STftreRdt §H Sy

YNNI
® A

(a) ‘:Effﬂﬁm

(b) ferddieT

() TRl

(d) g i gl

AR ¢ SR ST
aﬁﬁﬁﬁéﬁﬁﬂ%ﬁﬂﬁmﬁamﬁ?

(a) ﬂww '

(b) STl AT

© THEE

éﬁ'&ﬁ A FE ?

1. E N 2. g

g @Hm 4, zﬁ?ﬁm

5. oma@Asen 6. bl

7, Sl g. T
:ﬁ%ﬁt{m@ﬁaﬁmaﬁrwaﬁﬁq:

(a) 2,4,6,8 @ 1,878

@ 9,25,6 @ 3,527 T
ﬁﬂ%ﬁaﬂﬁﬂmm#wﬁﬁaﬁwﬁ
FAEME?

(a) ATeRTeTRa

) SRR

(c) SRt

(d)

e RIS T S hl ekl
(a) Y& EiTR (it &

(b) GEHTCHS [ATIE

(c) THfEF fF=E

(d) maEra FEicahar
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